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#1
Graph the quadratic function in standard form and identify the y-intercept, axis of symmetry,
and vertex.

(a) Identify A, B, and C. >\ / /%NT
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(b) Create a table with 5 points. Use the Domain -2,-1, 0, 1, 2. Mark the vertex on the table.
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(c) What is the shape of the QF? Explain.

OPENS 0P  Lle A=+2
(d) Give the ordered pair for the y-intercept: ( O;' -L!\ Mark on the graph with "Y"

(¢) What is the equation of the axis of symmetry? Mark it "AS" on the graph.

AsS X=o0

Give th d pair f thFrt 1= /07 . Markit "V" on th h.
() Give the ordered pair for the!vertex 7{0/ L') ark it "V" on the grap
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Graph the quadratic function in standard form and identify the y-intercept, axis of symmetry,
and vertex.

(a) Clearly graph at least 5 points and provide the supporting table of values in the space
provided below. Mark the vertex on the table.

(b) Give the ordered pair for the y-intercept: C O -3) . If possible, mark it on the
graph with a "Y"'. '

(c) Calculate the axis of symmetry and give the appropriate equation. Mark it "AS" on the

graph. x -=8 —_2. _2
P(S 24 = 2C[>= "‘2_‘::-—‘ )(:-—“
g7 (N trz(-3 = 12 3e
(d) Give the ordered pair for the vertex ("\ ) -4 .) . Mark it "V" on the graph.
1) f(x)=x2+2x—3 9@ 6-‘: 2 C= =%
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(cont.) Graph the quadratic function in standard form and identify the y-intercept, axis of
symmetry, and vertex.

(a) Clearly graph at least 5 points and provide the supporting table of values in the space
provided below. Mark the vertex on the table.

(b) Give the ordered pair for the y-intercept: (_ 0, ’-\) . If possible, mark it on the
graph with a "Y"'. :

¢) Calculate the axis of s mmet and give the appropriate equation. ark i on the
(c) Calculate th f sy ry and gi he approp q M k it "AS" h

graph.
/ X = (..1,) ? X = -2

: 4= -2 ()" D =gt o

(d) Give the ordered pair for the vertex ( ot | H :) . Mark it "V" on the graph.

2) flx =—%x ~8x—-4 | A= -2 ) =-% C= -4
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